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GROUP - C
( Long Answer Type Questions )

Answer any three of the following. 3x15=45

7. When will interpolation search be more appropriate than
binary search ? How does an interpolation search work ?
Write an algorithm for interpolation search. Show with an
appropriate example that worst case time complexity of
interpolation search is O ( n ). What Is the average case time
complexity of interpolation search ? 1+ 5+444+43+2

8. a) Show the operation of merge sort with an example.

b} Write the psecudo code for Heap sort.

¢} Explain the complexity of Quick sort.

d) Explain the advantages of binary search over sequential
search. 5+43+4+3

9. a) Define Hashing.

b) Explain one collision resolution scheme citing onc
example.
¢) What is tndex ? What are the vartous types of indexing ?
State the advantages of using indexing over a sequential
. file. 2+5+(2+3+3)
10. a) What are the differences between stack and Queue ?
Write the algorithm for Insertion and deletion in a
circular Queue.
b) What is the adjacency matrix representation of a
graph ? (2+6)+(5+2)

11. Write short notes on any three of the following : 3x5
a) Recursive us iterative solution of algorithms
b) B Tree
¢} AVL Tree
d} Linear Lists
¢) Dijkstra's Algorithm.
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Full Marks : 70

‘- ) ﬁms {n the margin indicate full marks.

® required to gtve thelr answers in thelr own words
as far as practicable.

- GROUP - A
= { Multiple Choice Type Questions )

ne correct alternatives for the following : 10 x 1 = 10

h s better computing time ( im analysis of

b) O(2n)

O(log 2 n) d)

None of these.

L

!

“ﬂ type of linked list contains a pointer to the next
.7 % as well as previous node in the sequence ?

a) Singly Linked List b) Circular Linked List

¢) Doubly Linked List d} All of these.
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i)

tv)

V)

vi)

vii)

3152 (N)

Which of the following is essential for converting an infix
expression to the postfix expression efficiently ?

a) An operator stack

b) An operand stack

c} An operand stack and operator stack
d) A parse tree.

A dynamic data structure where we can search for
desired records in O ( log n ) time is

a) heap b) binary search tree

¢} circularly linked list d) array.

For Column Major, what is the address of [ 3. 2 | th
clement of a 3 x 4 Matrix ( contains Integer number ) ?

It is given that the '‘Base Address is 2000'.
a) 2010 b) 2012
¢} 2016 d} 2018.

To implement DFS which data structure is generally

used ?
a) Stack b) - Queue
¢) Both {a) and (b) d) None of these.

The maximum possible height of an AVL tree with 7
nodes is

al] 3 by 4

¢y 5 d) none of these,
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"The best sorting technique when the data is almost

8election sort b) Bubble sort
» Quick sort d) Insertion sort.
s 1 Ooperation for adding an entry to a stack is

. Add b)
Ineert d)

Append
Push.

' i cbest data structure to evaluate an arithmetic
on in postfix form is

5. Queue b)

Stack
™ Tree d) Linked List,
GROUP - B

js  (Bhort Answer Type Questions )

Answer any three of the following. 3x5=15

?
g the following postfix expression :

=
9, 4,2, 4, +.%.2,2,4,9,3,/,°, -

e

2+3
‘is priority queue ? How many types of priority queues

@ pacudo code for evaluating postfix cxprcssloh.

h’l there ? Can you consider stack as a priority queue ?
"im. how ?

1+2+2

Write the Town of Hanoi Algorithm and calculate the time
complexity of your algorithm.
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